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| PART B: Grammar

best fits each space. Then mark the correct choice on your answer sheet.

PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each
sentence. Then mark the correct choice on your answer sheet.

The book was ---~---—- by a panel of experts, working in conjunction with the publisher.
1) revealed 2) compiled 3) intervened 4) attributed

In Canada, drug users belong to high-risk insurance —---—-—-. 4

1) entities 2) features 3) categories 4) structures

The victim was able to give the police an -——-—-- description of her attacker.

1) accurate 2) ultimate 3) identical . 4) equivalent

The government passed a law to promote the ~---——- of blacks into white South Africa
society. '

1) integration 2) foundation | 3) coordination 4) adaptation
Small businesses often have great difficulty in ----—---- credit from banks.

1) detécting 2) obtaining 3) pursuing 4) depositing
Feminists say that the book was written from a male —--

1) objective 2) inspection 3) perspective 4) presumption
Violence is just one of the many problems --—--—— in city life. |

1) explicit 2) empirical 3) available 4) inherent .
Legal requirements state that working hours must not 42 hours a week.

1) assign 2) exceed 3) utilize | 4) undertake
The Highways Department is responsible for the construction and --- of bridges and
roads. ' .
1) equipment 2) adjustment 3) manipulation - 4) maintenance
Maxwell’s responsibilities -—--—-— yours, so you will be sharing some of the work.

1) overlap 2) affect 3) identify 4) coincide

Directions: Read the ﬁ:ﬂﬂﬁ*iﬂg passage and decide which choice (1), (2), (3), or (4)

Since water is the basis of life, (11) -=------— the greater part of the tissues of all living things, the
crucial problem of desert animals is to survive in a world (12) =-------- - sources of flowing water are
rare. And since man’s inexorable necessity (13) ~-==-=---- large quantities of water at frequent
intervals, (14) -------- -- comprehend that many creatures of the desert pass their entire lives (15) ----
------ a single drop.

1) composes. 2) composing 3) it composes 4) that composing

1) which - 2) that 3) there 4) where

1) is to absorb 2) of absorbing 3) that is to absorb 4) is absorbing

1) scarcely he can 2) he scarce can 3) he can scarcely 4) scarce can he

1) for 2) from 3) upon 4) without
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l Part C. Reading Comprehension

Directions: Read the following three passages and choose the best choice (1), (2), (3) or (4). Then
| mark it on your answer sheet.

T —r—r—

PASSAGE 1:

During World War II, Turing was a leading cryptanalyst at the Government Code and
Cypher School in Bletchley Park, Buckinghamshire, England. Turing could not turn
to the project of building a stored-program electronic computing machine until the
cessation of hostilities in Europe in 1945. Nevertheless, during the war he gave
considerable thought to the issue of machine intelligence. One of Turing's colleagues
at Bletchley Park, Donald Michie (who later founded the Department of Machine

Intelligence and Perception at the University of Edinburgh), later recalled that Turing
often discussed how computers could learn from experience as well as solve new

problems through the use of guiding principles—a process now known as heuristic
problem solving.

Turing gave quite possibly the earliest public lecture (London, 1947) to mention
computer intelligence, saying, “What we want is a machine that can learn from
experience,” and that the “possibility of letting the machine alter its own instructions
provides the mechanism for this.” In 1948 he introduced many of the central concepts
of Al in a report entitled “Intelligent Machinery.” However, Turing did not publish
this paper, and many of his ideas were later reinvented by others. For instance, one of
Turing's original ideas was to train a network of artificial neurons to perform specific
tasks, an approach described in the section Connectionism.

16- What does the passage mainly discuss?

1) A scientist’s contribution to the concept of Al

2) The effect of Turing’s public lectures on the development of Al

3) The events that led to the anonymity of a great scientist

4) Turing’s responsibilities at the Government Code and Cypher school
17- The word “cessation” in line 4 is closest in meaning to ---——-—-.

1) depth 2) duration ~ 3) termination 4) involvement
18- All of the following are true about Turing EXCEPT that he ——--—-- ;

1) referred to computer intelligence in one public lecture

2) failed to publish an important paper that he had prepared

3) explored the possibility of computers’ learning from experience

4) established the Department of Machine Intelligence and Perception

19- The word “this” in line 14 refers to ---==---—,
1) machine 2) computer intelligence
3) learning from experience 4) altering its own instructions

20- Which one of the following has the author of the passage used to allude to one of Turing’s
novel ideas in the report he prepared in 19487
1) Cryptanalyst 2) Computer intelligence
3) Connectionism 4) Intelligent Machinery
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PASSAGE 2:

A major advantage in using digital methods is that the accuracy of a stream of digital
signals can be verified, and, if necessary, errors can be corrected. In contrast, signals
that vary in proportion to, say, the sound of an orchestra can be corrupted by “noise,”
which once present cannot be removed. An example is the sound from a phonograph
record, which always contains .some extraneous sound from the surface of the
re;ordiug groove even when the record is new. The noise becomes more pronounced
with wear. Contrast this with the sound from a digital compact disc recording. No
sound is heard that was not present in the recording studio. The disc and the player
contain error-correcting features that remove any incorrect pulses (perhaps arising
from dust on the disc) from the information as it is read from the disc.

As electronic systems become more complex, it is essential that errors produced by
noise be removed; otherwise, the systems may malfunction. Many electronic systems
are required to operate in electrically noisy environments, such as in an-automobile.
The only practical way to assure immunity from noise is to make such a system
operate digitally. In principle it is possible to correct for any arbitrary number of
errors, but in practice this may not be possible. The amount of extra information that

must be handled to correct for large rates of error reduces the capacity of the system
to handle the desired information, and so trade-offs are necessary.

21- Paragraph 1 is mainly concerned with -——-—--—-.

1) one merit of digital signals 2) how noise easily corrupts digital signals

3) why digital methods are sensitive o noise 4) the strength of sound signals in digital systems
22- The word “extraneous” in line 5 is closest in meaning to ----------,

1) loud 2) outside 3) unwanted 4) extracted
23- The parenthetical information in paragraph 1 refers to -

1) a source of noise 2) a defition of a term

3) an error - correcting feature 4) an advantage of digital methods

24- According to the passage, when electronic systems are to work in noisy environments
1) incorrect pulses are generated, which are hard to remove

2) the noise will be recorded on any digital compact disc

3) digital systems are prone to errors due to malfunctioning

4) a system guaranteed to reduce errors due to noise should be employed

25- The word “trade-offs” in line 18 is closest in meaning to
1) overhaul 2) compromise 3) elimination 4) renovation
26- Where in the passage has the author used an analogy?

1) Lines 15- 16 2)Lines2 -3 3)Lines 7-8 4)Lines 11 - 12
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PASSAGE 3:

27-

28-

29-

Algorithm is a systematic procedure that produces—in a finite number of steps—the
answer to a question or the solution of a problem. The name derives from the Latin
translation, Algoritmi de numero Indorum, of the 9th-century Muslim mathematician
al-Khwarizmi's arithmetic treatise “Al-Khwarizmi Concerning the Hindu Art of
Reckoning.”

For questions or problems with only a finite set of cases or values an algorithm always
exists (at least in principle); it consists of a table of values of the answers. In general,
it is not such a trivial procedure to answer questions or problems that have an infinite
number of cases or values to consider, such as “Is the natural number (1,2, 3,...)a
prime?” or “What is the greatest common divisor of the natural numbers a and 5?”
The first of these questions belongs to a class called decidable; an algorithm that
produces a yes or no answer is called a decision procedure. The second question

belongs to a class called computable; an algonthm that leads to a specific number
answer is called a computation procedure.

The word “treatise” in line 4 is closest in meaning to -——--—--.

1) script 2) solution 3) proposal 4) endeavor

The main purpose of paragraph 1 is to -—--——,

1) discuss the origin of a word 2) define a concept

3) put a concept in its historical background 4) appreciate the efforts of a great mathematician

The two questions asked in paragraph 2 are --—------

1) too trivial to be considered in any theory of alg-:}nthm

2) questions that are answered by different classes of algorithm

3) only rhetorical questions asked to raise the reader’s interest

4) questions to which algorithm cannot provide definite answers

What is the tone of the passage?

1) Historical 2) Persuasive 3) Subjective 4) Explanatory
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wanl g yio 315 (55le 05
procedure m(a,b,c) Pz 29,5 4z M(a,8 +\,Ya) Lasil
X:=2a vaQ
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Proceduse Demo (var number: integer; answer: real); ml1=2 4 m2=7.5 ()
begin ml=4 , m2=4.8(¥
number := number *2; ml=2 4 m2=4.8 (¢
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end;
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# include < stdio.h >

int main (void)

{ char ch; inti=552 ; ch=i;
printf (“%d” , ch);

return 0;

!

# include < stdio.h >

int main (void)

{

int *p,q;

q=20/5%*3;

p=4&q;

print f (“ %d %d” , *p, (*p=14q) );
writeln o; }

# include < stdio.h>
void r (int);

int main (void)

{ r (0); return 0; }
void r (inti) {

if (i< 9) {r (i+1) ; printf (“%d ”, i) ; }
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